Chapter - 10 Cell Cycle and Cell Division CLASS24

Question-1

What do you mean by cell reproduction?

Solution:
A new cell aris

f pre-existing cells. The growth and

ent on the division of cells. The
develops into an adult

ed cell teproduction.

What are

Solution:
Mitogens are chemicals which stimulate mitosis cell division.
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Question-4

How does growth occur in an organism?

Solution:

Growth can be defin Vilevelsible phenomenon in which increase in
the size of diy ,ganism during the course of its
development dlocesses like cell division and

assimilation ) all multicellular
sells incleases in the
as a lesult of

to produce new

atid is defined as a longitudinal half
of each chromosome found during
nucleus of a cell. prophase.
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Question-6

What happens to homologous chromosomes during meiosis?

Solution:

In the leptotene stage of meiosis, the chromosomes aie thiead-like and
coiled. During homologous chromosomes start pairing up. In
ysomes begin to thicken and shoiten.

ol ce between two homologous
gmosomes is seen duling
simosomes tends to
hiasmata. Duling

and (iii) Zygotic meiosis.
N 1elation to their time and place of
occulience

(i) Gametic meiosis

It occurs in some lower plants and all animals duiing the formation of
gametes ol gametogenesis. The male and female haploid gametes fuse to
form a diploid zygote. The zygote divides by mitosis and gives lise to a
diploid adult.



(ii) Sporogenic meiosis CLASS24

The diploid spore mother cells form haploid spores through meiosis. It is
1eferied to as intermediate meiosis and occuis in some lower and higher
plants. A gametophyte is produced by the germination of spotes. The
haploid gametophyte gives iise to a haploid gamete by mitosis. These
gametes unite to form a diploid zygote and a diploid spoiophyte is
developed from the zygote.

e some piotozoa and lower plants
gametes by mitosis. By
gduced. The diploid

The example
like fungi. T
fertilizatio

f genetic

] O matel kes place.d

of plophasﬂ

What are

Solution:
In metaphase I, the are formed in between the centiomeres of
the homologous chiomosomes. These are called inteizonal fibies.

Question-10

Name the chemical that arrests cell division in the cell.

Solution:
Colchicine is the chemical that arrests cell division in the cell.
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Name three events, which are responsible for genetic consequence uuiny
meiosis.

Solution:

The thiee events, which are 1esponsible for genetic consequence during
meiosis, ale

(i) The paiting of homologous chiomosomes.

(i) The process of crossing over and recombination.

(iii) Segregation of homologous chiomosomes.
Question-12

How does gametic meiosis differ from zygotic meiosis?

Solution:

Gametic meiosis Zygotic meiosis
It is called terminal meiosis. It is called initial meiosis.
The diploid adult forms gametes, which  [The diploid zygote divides by meiosis
are haploid by meiosis. known as zygotic.meiosis.
Example for gametic meiosis is lower Example for zygotic meiosis is algae and
plants and animals. protozod.

Question-13

Write three opportunities for large-scale recombination of genetic
information.

Solution:

In sexual 1eproduction theie are thiee oppoitunities for laige-scale
recombination of genetic information. They are,

(1) Fertilization when genetic information from two different parents is
combined in a new individual.

(1) Crossover when genetic information on mateinal and pateinal
chiomosomes can be exchanged.

(i) Independent assoitment when the maternal and paternal
chiomosomes in the cell are mixed in a vatiety of new combinations.
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Question-14

Which structure of animal cell forms the asters of spindle fibre?

Solution:

The centiosome is the structure of animal cell that forms the asters of
spindle fibre.

Questio

Whatis @

place in plant cel

5 place in pl

gﬁell by the fol

al processes associated with

Solution:
Cell multiplication is a simple process of incieasing the number of cells by

cell division. Hence, it does not include developmental piocesses
associated with growth.
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Question-18

Write the three processes which takes place in the interphase.

Solution:
The thiee processes in interphase ate

vith the synthesis of histones and nuclear

ol new centriole that lies at

o1 the cell

abolic activities
ale conc : aciomolecules ale
osome-coiling staits in
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Question-20

Mention the phases of meiosis in which: The chromosome number is
reduced to half. DNA amount is reduced to haploid state.

Solution:
() Anaphase

(i) Anaphase

At which stage of me sing over of genetic material takes place?

Solution:
Diplotene substage of piophase I.
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Question-23

What are interzonal fibres?

Solution:
In metaphase | stage, the proteins fibies are formed in between the

centromeres of homologous chromosomes. They ale called interzonal
fibres.

ent during cell

Question-26

What is the importz _ osome replication during interphase?

Solution:

Interphase. It is “a stage between the two successive cell divisions.” It is
consideled as the 1esting stage of the nucleus as it does not show any
moiphological changes. But physiologically it is very active stage in the life
of a cell as the cell piepares itself for division and many biochemical
changes occur during this stage.
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Question-27

Why is meiosis called the reductional division, whereas mitosis is called
equational division?

Solution:

In meiosis, the number of chromosomes is reduced to half, soitis called
reductional divisis haploid) are formed in sexually
reproducing ¢ ele are two main stages of meiosis
(i) Meiosis

(i) Meic

ienti llowing:

(d) Phase in and RNA are synthesized.

(e) Nuclear division.

Solution:

(a) Interphase,
(b) Meiosis,

(c) Centiomere,
(d) G1 Phase,

(e) Karyokinesis.
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Question-29

What are different ways in which the pairing occurs during zygotene?

Solution:
The thiee different ways of pailing duting zygotene aie

jous chromosomes begin pairing at the
ends of termi ged towards the centromere.

cre and progresses



